9209513111580D

Guilds
9209-513 NOVEMBER 2015
Level 5 Advanced Technician Diploma in Mechanical Engineering
Advanced Engineering Mathematics

Monday 16 November 2015
09:30-12:30

Do not write your answers in this booklet as this will not be marked. All
answers should be written in the space provided on the question paper.

SOURCE DOCUMENT

Please DO NOT return to City & Guilds.
Destroy this document locally.

© The City and Guilds of London Institute 2015
ST00046098 F2 PO4500111728 10201891



9209-513

Short Table of Laplace Transforms
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Initial value: f(t),t = 0

Final value: f(t),t - o

Unit step: H(9)

Constant: c
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